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¥ 8 ERTE HhaE ZERE agE & x
BHO#E(E1E) 124 121 13 9.3
BCH#E (F2m) 41 36 2 18.0
AR (B1E) 60 54 16 3.4
AR (F2E) 27 19 7 2.7
REER BA= (1) 33 32 10 3.2
BA = (82E) 20 14 4 3.5
Ch=t(%1m) 83 81 18 4.5
CHR (82E) 23 21 6 3.5
CHR (83E) 47 39 6 6.5
BHE#E(E1E) 45 44 4 11.0
B CHRE (£2E) 1 10 1 10.0
AA (B1E) 18 16 6 2.7
AR (F2E) 15 13 2 6.5
ERES R XFE BAR ($B1[E) 7 7 4 1.8
BA = (82E) 12 8 4 2.0
CH=(%1@E) 10 10 4 2.5
CHR (82E) 6 6 6 1.0
CHR (83E) 10 8 4 2.0
- AR (F1E) 9 8 1 8.0
AT ($2E) 3 3 0
HOHE (B1E) 20 19 5 3.8
BB (52E) 8 6 5 1.2
AR ABZ(E1E) 15 14 5 2.8
AR (B2E) 5 3 2 1.5
BA= (1) 0 0 0
BA = (520E) 5 1 1 1.0
BCHE (E1m@) 76 73 15 4.9
BCTHE (#2m@) 25 23 4 5.8
ABZ($1E) 24 23 6 3.8
AR (B2E) 18 15 5 3.0
REER BA= (£1E) 29 26 10 2.6
BA ($82E) 1 3 1 3.0
CA= (81E) 46 45 17 2.6
CH= (82mE) 16 15 4 3.8
CAzt (E3mE) 21 14 1 14.0
AAR(B1E) 7 7 4 1.8
S AR (F2E) 2 1 1 1.0
BAI (B1E) 0 0 0
BA (82[E]) 0 0 0
AR (F1E) 0 0 0
— AFR ($2E) 0 0 0
BAI (81E]) 0 0 0
BAR ($2mE) 0 0 0
AR (B 1E) 0 0 0
2 BT A= (520E]) 0 0 0
BAR ($1m=) 4 4 4 1.0
BA= (5520E) 2 2 2 1.0
BHOHE (F1E) 34 32 7 4.6
- BB (52E) 10 9 6 1.5
AAH (E1E) 16 15 11 1.4
AR (F20mE) 10 5 3 1.7
BCH#E (F1m) 94 91 35 2.6
BT (#2m) 34 26 11 2.4
—— A (8 1E) 52 51 19 2.7
AR (F2E) 18 16 11 1.5
BAT (1) 17 17 5 3.4
BA (52[E) 23 14 8 1.8
AR (F1E) 44 38 15 2.5
T — AAE (820E) 17 9 1 9.0
B7=t (58 10E) 23 21 10 2.1
BAR ($2m) 9 7 1 7.0
AA (B1E) 22 21 10 2.1
BFYRFLIER AR 2E) N ! 6 12
BAR (1) 7 7 5 1.4
BA (82[E) 13 6 4 1.5
AR (FE1E) 46 44 7 6.3
o AR (F2E) 32 22 4 5.5
BA= (1) 13 12 3 4.0
Bt (s820E) 12 7 1 7.0
AR (F1E) 4 4 1 4.0
R AR (820E) 3 3 2 1.5
BA (81E]) 0 0 0
BAR ($2m=) 0 0 0
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